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CHEMISTRY — GENERAL

Paper : GE/CC-1
Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.

TS FeYVSer T 7 |

S\ T FOM ATera Ted nie ¢ S0
(F) ANTOIT GTF F?
() o SHETR SNl AT Awe! Freltq #fFafee =72
() I TSR FEOGITSE G I (@91, 127°C TSR SIS 2@ 9T (0o M 20 2
(A) @R T STl T4 Ffowl ©Itwa I3el T2weld e @fFI— a1 71t 71w 2
(8) @32 MfegF SRR S T GerI AT TR Sl (@ 23 1 5 2372
) @ Riem wiesd «fem om @ 2 Rfenba 2 @ m— ga T s
(®) @ IRE 93 Kfes g ¢ el s =32
(@) @3 = e2w-a [T Suregel e |
@) 2-cAf%7-93 E 93 Z 91w RRei @realt |
(@) s 3R p FHISETT TNIE F© LA AFARC HGA ?

(%) FITEAITe 2RYITCSE St STHITa SR G SpPITE Al |

() Q@G ABIRy Ao stomasfer @edl |

(T) D @k L-farmamefeazres siomafe (oo |

(®) O ST S, g e spbe a3 — @2

() frsfeie @arefrs g ik Feipere =@ =Mre et (F-@@ 76 ) |

@

CH3, Bri, Hzo

(®) g srPiefm Bt SPfe «[w |— & ?

Please Turn Over



[T(IstSm. )-Chemistry—G(GE/CC—1)/CBCS] (2)

() sl StdmtrAeks sitm Rt SEE Pt Tes ¢

(%) CHj —EH—CH3 ) CH2:CH—%H2 ®) CH3—CH2—%H2
(%) W ST @RFGN FLF N 2 &, OCF GBI @RIGH WA Neefel F =032
(%) Cr 99 TG /Py el |
@) ~ffF Aol T e (AT B it Colte Tl wiPfe (o i #ie
(o) TREN TEF GBS Sepitg see ¢ C, N, Si, P

(F) 8H ST S SIS W% 7|
@) Li® o & 21e wpife 71 5735 eibie
(©) @RI @ Toyd SRz Triggel ne |

R (T AT AT TR MG ¢ IXE
(F) FECGITE #FIT F0E (J0IE ©EM6 G0 |
() K" @R Cl” ARG 2018 ST Sl Pid @ 77 |— i) S|
(50 1 IS AT MTTF (F(@ SIOIReTH-9F Taaels @Teat @32 Sfafie qfiefer sies Sme @ |
(9) 40°C SI#N@RI CO, T G SIS SIefl FCA |
(8) rdle @ -G R 75 =roied (9 =0O (@ 370 300, O 50 *oi] (¢ 2R AR faesel |

(G) GNETa o ST Retag W 37! 9SSR [ead s Sl (@ &7 |— 1=y 6l |
(®) frsfeie [fgnfa cwog 3o [Rigaes @6 @ 93k o FRd S e
CH;
| e
CH3 —C 7CH27 CH3 _—

|
OH

(%) T Tuizad 72I HSAB g0 @14l |
@) == sEeGs @i 9w Sl |
() R @aler S oE /57 SlEe I —
(%) H,CO; (M) NH,CONH, (2) H,0 (%) HSO,~
() AVFIECHE @I 5197918 FNF ST |
(3) D-TIFoF s e wRwe St |
(©) @13 #0 Sy1 Rferal 906 o712 *192 E1 Rifemie <6 |— Fi7ep= i< 3 |




(3) [T(IstSm. )-Chemistry—G(GE/CC—1)/CBCSJ

(®) 9 Syl Riez fRtF=E e |
() e, SRS Spifes (e e S Sifie 5 ?
(©) e (@l R 2R T P e @
CH;CH,, |>CH2, (CH;),C
() A e 2
(W) TIRGIR BT SIites A, g SAwhifas entie 73 |— i S |

[English Version|

The figures in the margin indicate full marks.

. Answer any twenty questions : 1x20
(a) What is the unit of viscosity?
(b) What happens to viscosity of a liquid with increase in temperature?

(c) At what temperature is the r.m.s. velocity of H, molecules equal to that of oxygen molecules
at 127°C?

(d) Gases which are difficult to liquefy have a high Boyle temperature— True or False?
(e) Compared to an ideal gas, the volume of a real gas will be more or less — under identical conditions?
(f) The rate of a reaction having a large activation energy is generally high.— True or False?
(g) Cite a condition in which order and molecularity of a reaction are same.
(h) Give an example of a pseudo first-order reaction.
(i) Write down the E and Z configuration of 2-Pentene.
(j) How many types of hybridised orbitals can be obtained by combining s and p-orbitals?
(k) Arrange the halogen hydracids on the basis of their increasing order of acidity.
() Write down the possible resonating structures of benzene.
(m) Give the structures of D and L-Glyceraldehyde.
(n) Lactic acid is optically active but not propionic acid.— Why?

(o) Classify the following as electrophiles and nucleophiles (any two) :

® _
CH3, Br . Hzo
(p) Electron affinity of noble gases are zero.— Why?

(q) Arrange the following carbocations in order of their increasing stability
+ @ ®
(i) CH; —CH—CH; (ii)) CH, = CH—CH, (iii) CH;—CH,—CH,
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(r) If the value of Azimuthal quantum number is 2, then what will be the values for magnetic quantum
number?

(s) Write down the electronic configuration of Cr.
(t) Why does the electron affinity increase on going from left to right of a Period in the Periodic Table?

(u) Arrange in ascending order of electronegativity : C, N, Si, P.

()
(v) Write down the conjugate acid for OH ion.

(w) Is Li®” ion hard acid or soft acid?

(x) Give an example of an amphoteric oxide.

2. Answer any fifteen questions : 2x15
(a) State Bohr’s Theory of hydrogen atom.
(b) K" and CI™ are isoelectronic but their ionic radii are not same.— Explain.

(c) Write down van der Waals’ equation for 1 mole of an real gas mentioning the significance of all
the terms.

(d) Calculate the average velocity of CO, molecule at 40°C.

(e) Show that the time taken for 75% completion of a first-order reaction is twice the time taken
for 50% completion of the reaction.

(f) The second ionisation potential of an element is always greater than its first ionisation potential.

Explain.
(g) Write down the major product of the following reaction and give reason for it :
CH;
| e
CH3 — C— CHzf CH3 _—>
|
OH

(h) Write down the HSAB concept with suitable example.

(i) State the Principle of Equipartition of Energy.

() Give the conjugate acid/base for the following :

(i) H,CO5 (ii) NH,CONH, (iii) H,O (iv) HSO,

(k) Draw one constitutional isomer of cyclohexane.

() Draw D-Lactic acid in Fischer projection.
(m) Conditions that favour Sy1 reaction also favours E1 reaction.— Explain why.
(n) Draw mechanistic steps of an Sy1 reaction.

(o) Why is phenol a stronger acid compared to acetic acid?
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(p) Arrange the following compound according to its increasing stability :

CH;CH,, D—CHZ, (CH3),C

(q) What is resonance energy?

(r) Though tartaric acid is optically active, but succinic acid is not.— Explain.




